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phone, ISEéraE\iﬂgE{g&rﬁﬁgf 65% famailww .FirstRanker.com
own neither a phone nor a car and 2000

families own both a car and a phone.

Consider the following Statements (5) :

(59) : 35% families own at least one
of a car or a phone.

(S,) 40,000 families live in the town.

Then :

1. (Sq) is true and (S,) is false.

%> (S4) is false and (5,) is true.

3 Both (S4) and (S,) are true.

i | Both (S,) and (S,) are false.
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(S;) : 35% Lol Wt i 2ol 215 5K
SUCTRL )

(Sp) :40,000 52l 4L PR3 28 ©.

el

1. (89 WL B 2 (S) M ©.

2 (Sy) MK B 2 (S,y) R ©.

3 (5y) 2 (S,) A UL D,

A, (Sy) 2L (Sy) v vzl ©.

If the roots « and 5 of the equation,

x2 J2x+ c= 0 are complex for some
; a—pB

real number ¢+1 and =1, thena
1— af
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Let A be a 2x2 matrix such that
3AZ4+6A —41=0. Then a value of |A+1
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siny cosxy tanx
If f(x)= 2 x2 X -
2x 1
sa[=E T o f@)
*E ( 5" 2)’ then xlinﬂx—z is equal
to:
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S |
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4. 39

Let S=3+55+333+5555+33333 +....upto
22 terms. If 95 +88=A(102-1), then A is

equal to :

530
1. 9
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HIAT S =3 + 55 + 333 + 5555 + 33333 + ...
22 921 9, ¥ 1 AT 95+ 88=A(1022—1) &,
A T E

530
99

3%
88

8%

QIRlE S=3+55+ 333 + 5555 + 33333 + ...
22 el Yell. oA 95 +88=A(102-1),dl A=
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If r=elsintand y=efcost, t is a parameter,

1, 0
3, —

]
3. 2
4, 2

2.
then the value of ) |

dy

2

dzy

dxz

att=0,is:
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For non-zero real numbers [, m, nand a, let
flx)= Ix® + mox + nand f(a) = f(4a). Then the
value x ¢ [a, 4a], at which the tangent to the
curve y=f(x) is parallel to the x-axis,

15

Waﬂﬂmﬁmﬁf,m,nﬂmaa?m
AMI f(x) = Ix® + mx + n T f(a) = f(4a) T1
x € [a, 4a] F1 =5 AF, 9 W =TF y=f(x) F
WWI—W%W%,%:

1. 2
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2lricl? by Hudizil [, m, n @i a 12 ARl
f(x)=Ix3+mx +n 24 f(a)=f(4a). 45
y=f(x) 4l 2uals r-2@d wuidr 2wy ddl

=

x e [a, 4a] -l Bud 3

1. 2a

3. Ga

4. V7 a

The set of all positive real values of k, for
which the equation x3 —9x%+24x k=0
has three distinct real roots, is the interval :

1. @821
2 (16, 20)

3 (12,16)
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A & 7

1. 821
2 (16,20)
3 (12,16)
4. (1418)

Hlsael 22 -9x2+24x—k=0 - el [
il oflsy €l dell i ad suedlels vl
k AL 218 ARl 541 2idrid 57

1. (18,21)

2 (16, 20)

3 (12 16)
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(2 sinf 1) cost)

The integral _[5 db s

- cos20 — 4sin

equal to :

(where C is a constant of integration)

31 2+ H}L’r{:
1 : Dg‘f( cost) 2 — cosb

3 log (2 0) + : + C
ngﬂ( costl) 2~ sinb

2 log (2 — sinf +. 5 +C
b e
2 log_ (2 + sinf _3 +C
C'Be{ tsinb) + = cod
4.
¢ (2sin® — 1)cosh
HATH J 5 — db =TT
5 — cos“h 4 sini)

e

(S8l C U o 39 8)

31 24 IEPL’rC
3 log.(2+co6b) 2 — cosb

1.
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2 log,.(2 + sin® . : +C
4 0g,.(2 +sinb) + Y—

(2 sinf — 1) cost

%{5::.1-1_[ = — do =
5~ cos i 4 sinf

(sl C 2l sl 2015 )

31 2+ H}L’r{:
1 E Dg‘f( cosf) 2 — cosb

3log.(2 0) 4 ¢
0g,.(2 —cosb) =

2 sinf

2 log (2 — sinf) +. & +C
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Hh'-Rz{(Iry}:.yixz,yEEX F3,x<1 @
'+ 120} 4 S (2 Sael) Aol b

27
8
1. 3

Let C be the circle concentric with the circle,
222 4 23.'2 6x —10y =183 and having area

th

1

(ﬁw of the area of this circle. Then a
J

tangent to C, parallel to the line, 3x +y=0
makes an intercept on the y-axis, which is
equal to:
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9 17
3, =4
4, -10

2x2+2y2 —6x — 10y =183 F HF=ZI T

| = = | ]. .
Wwwwmwm{m] =i
femm 31 A 3y +y=0F TR C F TH
o791 T - | S AT wedl €, G|

1. u
2. U
3. 4
4. ~10
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4 #1501 241 AUl ssoei (%] Pl ©.

Al 20l 3x + y=0 - Ui 2l C AL ¥42ls Al
-2l Yl 2idvis =

1.

14

17

10

The area (in sq. units) of the region enclosed
by the lines, ax =by+c=0 (a, b, c ¢ R are
positive and distinct) is :
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@3 ax+by +c=0(a, b, c € R, 97 a1

o1 ) gr1 uitEs &5 & 2%l (7 sial
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1 be
2. ab
22
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e
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If an ellipse has centre at (0, 0), a focus at
(—3, 0) and the corresponding directrix is
3x+25=0, then it passes through the

point :
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od 518 Gusa o 55 (0, 0) 2 AUl (-3, 0)
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Let P be the point of intersection of two lines

x+10 _y—-21 _ z+ 11
1 7 5

and

. ) .
5 9 -3 If Q be the point

(—10, 21, —11); then PQ is equal to:

1. 3

—.21 z+ 11

1 7 i

L e .=§$15rﬁ1%a':lﬁ-§
P Az Qg (-10, 21, —~11) & & PQ

ELCEE
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x P =4 7 e 5
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1. 3
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and the plane r - (2: Jr | k]— 4, then a

wvalue of cosl is :
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1. ¢
VB
2: ¥
5
3. 6
77
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Bk
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— | oA

A A
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2. ®
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k=1,2,3,4and pe(0,1). Then the standard

deviation of X is:

Ml X U U1 Aifesd =1 2 fawes 5H k #
WA kp &, FET k=1,2,3,4 491 pe(0,1)
F1 d1 X = g faeer #

{,
2. V7
3. 3
4, V0
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AL kp ©, ol k=1, 2,3, 4 14 PE(UYVﬂyv.FirstRanker.com
Al X o WwilBid B Azl s2d am?

1‘1

If the probability of a shooter A not hitting
a target is 0.5 and that for the shooter B is
0.7, then the probability that either A or B
fails to hit the target is :

1. 035
2 025
3. 020

4. 085
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I & Wt 0.7 2, o1 A B % o5 H1 A

U2 U F GIEET R

1. 035

2 025

3. 020

4. 085

Rty [HauActsr A @8 A 98 d-l {ouarL 0.5 8
i 2L dHeusAL [RRuHelsy B w2 0.7 8. dl
[Rzuqctsry A el [Heuqeusy B a8 daal
[Fros0 s del deuadl szl 27

1. 035

7025

3020

4, 085
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1'.21"\4"5{"\}"5 J6
2 1 V2 +3 +46
3'.2-’;&{\@}-#{5

4"1}J§|J§|JE

q
cot— EIHH%:
24

1 2+2+3-6
2 1-2+B+6
3 242+ ++6

4. 1+ 2 +B ++6

cot% o yeu ARl £ 89
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The Boolean expression

~(pvq)v (~p ~ q) isequivalentto:

3. ™

ﬁ?ﬁﬂmw (p v q) v (~p A q) it
g fFa & g 2?2
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3. ™

4. P

ofadd [3wel ~pvg v (~paq)
eAl2Aizl sl Wuss 97

1. P

3. 4

4, 7P

The largest value of n ¢ N for which

+3
A T

i |

It

nP I'l+]l'_)

L !
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Question Number : 21 Question Type: SA
Correct Marks: 4 Wrong Marks: O

ne N &1 #Afywas am@, fags fau

n+3
nM G4 n+l i % % i
lT]II'L 1—]In +1
Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes
Answers Type: Range
Possible Answers:
6t06

Question Number : 21 Question Type: SA
Correct Marks: 4 WrongMarks: 0

ne N Hedd BEod & sl L2

- ?4 I"|.+3

npn |'|~'*Il-_;.r|l+I

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

6t06

Question Number : 22 Question Type: SA
Correct Marks: 4 WrongMarks: 0

If y = y(x) is the solution of the differential
d
equation, E'E“Ef = y(loge y — loge x+1),

when y(1)=2, then y(2) is equal to

m— i

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

8to8

Question Number : 22 Question Type: SA
Correct Marks: 4 Wrong Marks: 0
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dy _ | |
x 2 = y(loge y — loge x+1) %1 7 ,

A y(1)=2% MyQ2) FAAE |

8t0 8

Question Number : 22 Question Type: SA
Correct Marks: 4 WrongMarks: 0

sl y=y(x) = [EAsa  udlsw

d :
:«;ay = y(log, y — log, x+1) sl y(1)=2

Al G5d €l dl y(2)=

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

8to8

Question Number : 23 Question Type: SA
Correct Marks: 4 WrongMarks: 0

The interior angles of a polygon are all
obtuse and are in A.P. If the smallest angle
is 1207 and common difference of this A.P.
is 5° then the number of sides of the
polygon is _

Response Type: Numeric

Evaluation Required For SA: Yes

Show Word Count: Yes

Answers Type: Range

Possible Answers:
9t0 9

Question Number : 23 Question Type: SA
Correct Marks: 4 Wrong Marks: 0

U TgS & Gt FHa:Fm, Afaw o E g
TR 9% 1 § 1 afe Hed BRI S 1200 F 8
Y1 TH THRHE 431 1 9@ SR 502, 9 34
A FH A BEHAE |

Response Type: Numeric
Evaluation Required For SA: Yes
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Question Number : 23 Question Type: SA
Correct Marks: 4 WrongMarks: 0

D5 ASHEAL AAtlley 210l 358 B 2 o
Wiz Aol (AP) Hl 8. sd el -l el
120° AL €11 24 21 12 Sell-l A dsed
59 Al ¢l ol 24l etgslerl syl dva
= Y.

Response Type: Numeric

Evaluation Required For SA: Yes

Show Word Count: Yes

Answers Type: Range

Possible Answers:
9t0 9

Question Number : 24 Question Type: SA
Correct Marks: 4 WrongMarks: 0

" { 2
Bim - 2)t2yltyty is equal to

v —0 Ey

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

ltol

Question Number : 24 Question Type: SA
Correct Marks: 4 WrongMarks: 0

ey Y2 21+ y + y*

y—0 2y

WIET B

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

ltol

Question Number : 24 Question Type: SA
Correct Marks: 4 Wrong Marks: O

2
i (i E]IE«.IH Fy+y

¥ -0 Ey
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Question Number : 25 Question Type: SA
Correct Marks: 4 WrongMarks: 0

S5 = {z elC:z= fzz} , then the maximum

value of |2 J3 ;'|2 on Sis

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

9to9

A T —

Question Number : 25 Question Type: SA
Correct Marks: 4 WrongMarks: 0

gfe S={zeC:z=i2}, M S W

-3 i ®1 afewmm wm @

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

9to 9

Question Number : 25 Question Type: SA
Correct Marks: 4 WrongMarks: 0

-

W  S=1zeC:z=i2), ¢4 dl

(]

B i ol 8wrell ugnu Gud =

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:
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The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.
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N
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L) e
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2 L
3" m——
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2.
117

3 —
-

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.
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]

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.
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The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.
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The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.
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The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.
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The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.
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One of the following answer figures is hidden in the problem figure in the same size and
direction. Select the correct one.
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One of the following answer figures is hidden in the problem figure in the same size and
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Which one of the answer figures is the correct mirror image of the problem figure with respect
toX-X?
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The 3 - D figure shows the view of an object. Identify the correct view when the figure is
opened up, from amongst the answer figures.
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The 3 - D figure shows the view of an object. Identify the correct view when the figure is
opened up, from amongst the answer figures.
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The Louvre in Paris is which one of the
following ?

1. A Dance Hall

2 A Banquet Hall
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4' A Residence
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In the Northern Hemisphere the summer
sun sets in which one of the following
directions 7

1. North East

2 ) North West

3 ) South East

4. South West
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In which one of the following States is the
Konark Sun Temple ?

1 ) Karnataka

2' Andhra Pradesh

3. Odisha

4, Haryana
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What is the thickness of a half brick thick
wall ?

1, *
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In which one of the following situations are
trusses normally used in buildings ?

1 High Rise Buildings
2 Large Span Buildings
3 Under Water Buildings

4 Buildings in Deserts
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In which one of the following countries is
Piazza San Marco located ?

1 Germany

2 ) France

3 ) England
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In which one of the following countries are
Zen gardens popular ?

1. Thailand
2. Japan
3. China
Zl. Pakistan
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Chhatrapati Shivaji Terminus is located in
which one of the following cities ?

1 Mumbai
2. Kolkata

3. Delhi

4' Bangalore
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Which one of the following colors absorbs
all light falling on it ?

1 ) Blue

2 Black
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4. Pink
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Which one of the following colors is

perceived as cowardice ?

1 ] Pink
2 ) Purple
3 ) Orange

4 Yellow
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Which one of the following textures
describes the surface of a mirror ?

1' Grai_n}r

2 Wrinkled

3 Shiny

4. Coarse
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What is the purpose of louvers in
buildings ?
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2 . To stop wind from entering

3. As sun breakers

4' To hide something
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Which one of the following floorings is
ideal for indoor badminton courts ?

1 ) Granite
2 ) Brick
3 _ Marble

4. Wood
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Which one of the following architects
designed the Madhya Pradesh Assembly
Building ?

1 Raj Rewal

2 ) Charles Correa

3. AP.Kanvinde
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What is the normal height of a doorway in
residences ?

1 ) 2.5 meters
2 ) 1.5 meters
3' 2.1 meters

4' 2.8 melers

i H R I A S 2
1. 25¥=
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4. 28
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Drawing

In the space provided for the answer of this
question, draw an aesthetic composition
appropriate to this space using only
cylinders. There is no restriction to
numbers, sizes, placement and directions
of these shapes. Color this composition so
that it becomes visually exciting.
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Draw from imagination a gymnast doing
eXeTcise.

OR

Draw from imagination a scene of a school
playground with children playing.

OR

Draw from memory a grand parents face.
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